OMB Burden Estimate

		Respondents	Tim	e in hours Salary	
Museum			100	40	27.4
Library (N/A)			0	0	0
University (N/A)			0	0	0
Nonprofit (N/A)			0	0	0.00
	TOTAL		100	40	27.4

\$27.94 - librarian	http://www.bls.gov/oes/current/oes254021.htm
\$27.40 - museum	http://www.bls.gov/oes/current/oes254012.htm
\$32.96 - university	http://www.bls.gov/oes/current/naics4_611300.htm#25
\$31.40 - nonprofit	http://www.bls.gov/oes/current/oes251199.htm
average	

Total Time (hours)	Total Annual Costs		
	4000 \$	109,600.00	
	0 \$	-	
	0 \$	-	
	0 \$	-	
	4000 \$	109,600.00	109600

i-0000 (education and library) (education support services)

26.09 27.94 32.96 31.40 **29.60** ave

Process	OMS/OLS average time to process one (hours)	GrantsAdmin ave time to process one (hours)	# of	: oonses
Discretionary Applications including SF-424S (data entry, first-check, budget check)	1.1	.6	0	100
Discretionary Applications (IT download)		0	0	100
Review Process	1.	.5	0	100
Discretionary interim performance report		1	0	32
Discretionary final performance report	1.	.5	0	32
SF-425 (financial reporting)		0	2.5	32
SF-270		0	1.5	32

428

^{*} Average salary of IMLS employees

Hour burden to Average IMLS salary*

475

\$ burden to IMLS

116	41.12	4769.92
1	41.12	41.12
150	41.12	6168.00
32	41.12	1315.84
48	41.12	1973.76
80	41.12	3289.60
48	41.12	1973.76

19532.00 totals